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Figure 1: The Beveridge eurve during different periods {Source: BLS and St. Louis Fed)
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Q3. Solow Growth Model (&1 30 47)
A closed economy is characterized by the following production function:

Y, = KE(AN)T %, a € (0,1),

where Y, is aggregate output, A, refers to technology; K, is total capital and N, is total

workers (subscript t referring to discrete time period). The economy’s saving rate is s and the
depreciation rate of capitalis §. Also, the number of workers grow ata rate n (that is,

-N;—‘; = 1 + n) and the technology growth rate is g (that s, ‘% =1+ g). Answer the following

questions: [You are required to write down the whole procedute of your detivation.]

() Suppose that g = 0 and A, = Ag. Derive the values of capital and output per worker (in
terms of Ay, s, 1,8, a); respectively, under the steady siate equilibrium. (10 43) What is the
saving rate that can maximize stcady state consumption per worker (in terms of Ag, 7,8, )
under the steady state equilibrium? (10 43)

(i)) Suppose that g > 0. Derive the growth rates of capital output per worker and total output ¥,
respectively; under the steady state equilibrium. (10 473) [Hint: Since both g and n are small,
you can ignorethe termof g -n(~ 0).]

Q4. IS-LM model in an open economy (&1 20 47)

Country A (the domestic country) is an open econommy with flexible exchange rates. The IS and
LM curves of Country A are given by

IS: V=C(¥ — D+ 1Y, %6+ NXW, Y, E)

LM: i=1,

where

Y: Qutpuy; €: Consumption; I: Investment; i: The nominal interest rate;

G: Government spending; T: Taxes; NX: Net Export; ¥*: Foreign output

E: The nominal exchange rate (a unit of domestic currency can exchange E units of foreign

currency)
Note that the nominal interest rate i (=7) is controlled by the central bank of Country A and
Marshall-Lerner condition holds. Moreover, the following relation (the interest rate parity) always
holds under perfect capital mobility:
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where i* is the nominal interest rate of the foreign countryand E¢ is the expected future

nominal exchanged rate. Assume that the exchange rate £ is equalto E, originally. Answer the

following questions:

()) Draw diagrams to show the effects of an increase in foreign output ¥* on Country A’s output,
investment, NX, and the exchange rate E, keeping all other things fixed. (6 57)

(i) Draw diagrams to show the effects of an increase in the foreign interest rate i* on Country A’s
output, investment, NX, and the exchange rate E, keeping all other things fixed. (6 4)

(1) Country A announces that it will always keep its exchange rate at E,. Draw diagrams to show
the effects of an increase in the foreign interest rate #* on. Country Als output, interest rate,

investment, and VX, keeping all other things fixed. (8 43)
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